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MSCZ0O-12 (M.Sc. ZOOLOGY)
Second Year Examination-2014

Z0-553

Toxicology

Time Allowed : Three Hours

Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into three (03)
sections. Learners are required to attempt the questions
contained in these sections according to the detailed
instructions given therein.
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Section - A / @8-

(Long Answer Type Questions)/( &€ ST ot W9 )

Note : Section 'A' contains four (04) long-answer-type questions of
fifteen (15) marks each. Learners are required to answer
any two (02) questions only. (2x15=30)

593/407/290 1 PTO



e . @S ‘w H =R (04) S SR a9t oA feu U €, weles ued
& foT ugg 3fe fraifta & | Rrenfofal o g7 @ dae @
Yol o IS & |

1. Describe the formulations and classification of insecticides.

Enumerate the applications of insecticides with examples.

HISATITHI o TTET0T & FThLT Rl T shifSTT qeT SST8ul Hfed
HIARTeh] & ITANT i TGS hisT)

2. Explain the photochemistry of pesticides with the help of

suitable example.
HISAIThR I THIH AT Sl ST S0 i Tl 9
HHHART |

3. Explain the mechanism of'action of DDT. Write consequences
of DDT poisoning.

e = wEfafy o gusmsdl S€Eld fowfeaewo =
gty fafey |

4. Write the fate of pesticide residues in the environment. Discuss

its impacts on environment also.

ShieATSTR AT Y1elf 1 Gafervl | &id % 9R | faf@w den
TIERUT R W THEE &1 it JUF RS |

Section - B / @g-&

(Short Answer Type Questions) ( &g 3R ATl UIT)

Note : Section 'B' contains eight (08) short-answer-type questions
of five (05) marks each. Learners are required to answer
any four (04) questions only. (4x5=20)
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Write the uses of botanical insecticides with examples.

T ISR & IR0 Ffed sya fafey |

2. Write difference between organophosphorus and carbonate

insecticides. Enlist some examples of each.

a2 N NN N x a NN o o b
SV RN RA A opldlqe shledlRlen] H A (el dAl s

%9 e Hf T |

3. Give an account of extra-microsomal metabolism of

Insecticides.

HINTRI & THET AEHEHA 3q9ed & aR d fowr 9
foafem |

4. Discuss the role of synthetic insecticides in eradicating insect

population.
whiel hl TG % I § Heifd sieren i fhehl &
i ¥ fafer |

5. Write a note on synthetic pyrethroids with suitable examples.
SUYH 3TN Hied HIAf wedierized W feooft fafemy |
6. Write the mechanism of action of microsomal mono-
oxygeneses.
HEshigTa AH-sAedfshfas &t frafafa = sR o =0

ST |
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Note :

e

What is meant by insecticide resistance ? Describe the methods of

evaluation ofinsecticide toxicity.

FHISATIR UREE § 379 1 THSM o2 HISANEh! & faurean
& Siem ot fafEl & aR o fafew |

Discuss the impact of synthetic pesticides on human health.

YA ISR 1 A" & W@ed W TH 9 gural i
U HIfST |

Section - C / @g8-H

(Objective Type Questions) / ( TEITS UIT)

Section 'C' contains ten (10) objective-type questions of one
(01) mark each. All the questions of this section are
compulsory. (10x1=10)

s T W @ (10) TEFS we fau e, ude W &
fow ueR eiek fruifia & | g9 @ & @t weT arferd

Note : Choose right alternative.

ﬁ?:
l.

& feremew ST |

A discipline of science in whch efforts are made to treat the
patients exposed to occupational, accidental or intentional
poisoning is known' as ..... ...........

(a) Forensic Toxicology (b) Clinical Toxicology

(¢) Industrial Toxicology (d) Economic Toxicology
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foagm =1 9% I faE W =faa st foe e, s,
gfernfia favremar o ufdq &), Feard 8:

(31) BRI Armariaist  (9) Fclifera Afeariarst
(@) TeEFa aAfFgmarst (3) ShiHas ottt

Those chemicals that prevent toxic actions of toxicant :

(a) Drugs (b) Antidotes
(¢c) Antiseptic (d) None the above
T WA S fate gxel & favsrt gl & Jahar @
(1) T (9) ddeiem
(@) ufafes (%) 3 9§ %8 &l
Tetrazines is a common example of ............
(a) Preservatives (b) Antioxidantst
(¢) Sweetners (d) Colouring Agents
CLaUS o A 1 TH WERT IEI & |
(a1) firerafesn (F) ThsiFRR
(|) e (3) AR TSicH
4. Which among the following photochemical products is known

to block hill-reaction of photosynthesis in plants ?
(a) Benzopyrene (b) PAN

(¢) Hydrogen Peroxide  (d) Peroxy Benzoyl Nitrate
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(37) ST ()
(W) TEgeA Walases (3) W S~iwd "gee
5. Chemicals used to control acarine pests.
(a) Fungicides (b) Acaricides
(¢) Rodenticides (d) Herbicides
Aere e w Frefafed ¥ @ R A 2 2
(37) HHIARTR () THHEESH
(W) USdEEsE (7) edfiurze™
6. Example of organochlorinated pesticides :
(a) DDT (b) Dichlorovos (DDVP)
(c) Parathion (d) Fenthion
ARTFIFARHIE Tl Aegd T ST T
(a1) QA (F) SRR
(@) Tuferm (%) & o
T e is a selective herbicide.
(a) Aldicarb (b) Carbaryl
(¢) Carbofuran (d) Diquat
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................... Th = (ST §3) Il §
(31) Uesisrs (9) HrEifa
(|) HERA (%) SR

The amount of toxicant, which produces 50% mortality of the

exposed organisms is known as ...................

(a) LD350 (b) LC50
() TL50 (d) All above

foromert el ot g TEn femd Sal o 50% gogX wefeia et
£SO HEA B

(31) TEEl 50 (F) T 50

(9) dua 50 (%) 3w g+t

The process of bioconversion of inactive xenobiotics into more
reactive products is termed as ................ :

(a) Biotransformation (b) Bioaccumulation

(¢) Bioactivation (d) Biomagnification
Siatehtes i a8 Ufren e fsnta SiHremifeara s1fyen
framsiial Sag & o_a S €, F oo FE 9 ®
(31) FTAISHBNHIH () SRR

(9) ST (%) SramHfwsem
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10.  Toxic effect of a chemical to one form of life without affecting
other forms, even though the two may exist in intimate contact
is termed as :

(a) Selective Toxicity (b) Acute Toxicity
(¢c) Chronic Toxicity (d) None of the above

fhdt WA & Y faueid 99E S Sitad i fohdl T ofaeen
! yuifad Fal §, S rawen & ywifad Y e wetw
Tl el T I H STSS WUS U E, el Sl @

(31) Haifeea Tt (9) TR ifEed
(§) whifTe reifeed (%) = 9 g T8l
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